EpE

v \xoW/W/\W\W\W\JM\W\x{/\x{/\\l/\&//\\ﬂ\\ﬂ\\l/\{/\x//\\{/\\//\W\W\\(l\\{/\\//\\//\\[/\W\:{N{/\W\W\W\\H\W\W\W\\[/\AM\\{/\\[/\W\\W{/\){/\W\W\AWH\VJ\W\W\V/M(/\X{/Q[/\W\W\)U\JM\\[/\W Q

QYD IRV NIV NI IS ININ IS IS TSI ININISNISINISININISISINTSOINISNISNISISININISININININTS A N N NNV V(o \ /o]

%D QNWQNWMW“WQNQNW“MWWWQ%WQNUWWWQWWWWWQ INONINONNG %‘)
ONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONINONONONONONONONONONONONONONONONONONONONONONONONONONON

& y
¢ Series eFGHE [=] % [=] Set-4
% 4 o
VRO 2 T 326
R . ~ &
. Roll No. g@qgmaaw%@l 8%
g’n% Candidates must write the Q.P. Code %
o on the title page of the answer-book. ) &
o 1 ST 8
3% INFORMATION TECHNOLOGY 5
RXK KK
%; RefRa @77 : 3 a7 SHTIHTT 3% : 60 25
%0 Time allowed : 8 hours Maximum Marks : 60 %ﬁé
o e
e FIAEA R AT RAF AT 197 | &
20 e WA W g w1y ol AR fou T wAwm e ! udenel swgferm % 0
%0 HE-gE W fu@ | &5
00 e PN R A I 24T E &
49 e PUAT UV HT IW G Y& A A Uge, IWGIEART § U BHATE o
& Iy fore | &

5 e 3 TEA W UGN & U 15 e 1 wm e ¥ | v & e OO
O wEE # 10.15 W9 R ST | 10.15 S ¥ 10.30 S Ok SO haAd 00
0 9T W U 3 38 Irafy % I A IRl W g S A feh 1 O

%\5 e Please check that this question paper contains 19 printed pages. %
&5 e Q.P. Code given on the right hand side of the question paper should be
R written on the title page of the answer-book by the candidate. o]
% e Please check that this question paper contains 24 questions. %
¥%X o Please write down the serial number of the question in the XX
%% answer-book before attempting it. %ﬁg
&5 o 15 minute time has been allotted to read this question paper. The &

:“ggg question paper will be distributed at 10.15 a.m. From 10.15 a.m. to &

&8 10.30 a.m., the students will read the question paper only and will not &%
AR . " . . (@)
& write any answer on the answer-book during this period. &
B I
NI\ v Y74 TNTNINININTN V74N N /W%g%%@%@@@mﬂw
Nﬂmﬂw/mmmmmﬂmma\y}mﬂmammmmr}w}mma\y&mammmﬂ\wwvn\\ﬂ\v}mmmmﬂ\\mmam%awmm&ommm&mm\mﬂmymmm

E 326 Page 10of 19 PT0.



EFE
o
2[5

T 4397 :
() YT F T 3 TG
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(iii) WUE & T FeGiI3 IR & J97 & Felh WU & ¥ [9IRF JHH & J97 & |

(iv) 13T 7T (6 + 18) = 24 341 § @, 3Hgar &1 3 g2 & 37&lea (3ifaswaq) aua 5
(6+11) =17 971 & I 37 & |

() 14 9y @8 & G 991 F1 Gt FH H F7 FT JIG [T ST =037 |
(vi) UG &F: FGITS THR & T97 (30 37%F) :

() 3T GUEH 675/

(b) BT THRIHE 3HH7 781 & |

(c) 13T 78 3597 & 31gaR T |

(d) I3 97 YT & Grad TE12T 37H] BT Iooid 1397 77 & |

(vii) TUE @ : [d5TRF JHR & J97 (30 37%F) :
(@) 39 @S 718 F77 & |
(b) IHiGaR FI 11 J97 F7 & |
(¢) 13T 7T 591 & S7aR T |

(d) Jcd% F97 ] 91T & GrE+ 32T 37b] BT Il 137 Ta7 & |

Qe &
(TEgfes uv) (30 31<R)
1. TSR hivad W feu 7u 6 991 § 4 fohal 4 991 & 3 i | 4x1=4

G) A A A1 g3 8 g e sufth o AT (motivation) i
el AT 2 | 1

(i) EH (Afqerer) 2 ? 1
(iii) Teh STAATRR Sig9 2 Sial Ufth 3 &ary Wesfie d e 81 1
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General Instructions :
(i) Please read the instructions carefully.

(it)  This question paper consists of 24 questions in two Sections : Section A
and Section B.

(iti) Section A has Objective type questions whereas Section B contains
Subjective type questions.

(iv) Out of the given (6 + 18) = 24 questions, a candidate has to answer
(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.

(v)  All questions of a particular section must be attempted in the correct
order.
(vi) Section A : Objective Type Questions (30 marks) :
(a)  This section has 6 questions.
(b)  There is no negative marking.
(c) Do as per the instructions given.
(d)  Marks allotted are mentioned against each question /part.

(vii) Section B : Subjective Type Questions (30 marks) :
(a)  This section has 18 questions.
(b) A candidate has to do 11 questions.
(c) Do as per the instructions given.
(d)  Marks allotted are mentioned against each question/part.

Section A
(Objective Type Questions) (30 Marks)

1. Answer any 4 questions out of the given 6 questions on Employability

Skills. 4x1=4
i) An individual’s motivations, inspired by others or events is known as

1

(ii)  What is stress ? 1
(ii) A is rectangle shaped box, where row and column meet

in a spreadsheet. 1
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Freaareres Ao, Sufyar St & @ s 2 | sad fe w98
TE/ T B |

TAT®T HAM & foit HRER (eHg) wfia ®H 3 38 IaW ad

TRETIBEAHIHE _ HE AR |

(vi) o AMBH e H H M o aied gt 8 S gq T
(selected) B feafd =1 Tef¥ia A 2 |
(a) e 9 (b) ®2H TR
(c) HLE (d) er3ed 9N

fau T 7 91 ® @ fohegl 5 991 % I T |

(i) < SeeE H ghd @ GRO™T (tables) I A
(command) Jeffd it 2 |
(a) SHOW DATABASES (b) SHOW TABLES
(c) CREATE TABLES (d) DISPLAY TABLES

(ii) LIKE $l-98 & @y 9ed 89 Hd 999 Ghd (symbol) Th
TN (single character) %! FGel ¢l & |

(i) 33IYE dd1sT :
String myStr = "Welcome Users";

(iv)

(v)

System.out.println("New String:'"+myStr. toUpperCase()) ;

constraint % &Y Null 93 & % T Attribute value

$1 Tl TE 2 |

Java U, 9 9 ‘Ef ffifa (prebuilt) guft 3 3Ed wEfd gghaat

39T T o Ty statement JINT | T8 ATl @ |

(a) include
(b) public
(¢) extend

(d) import
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(iv)

(v)

(vi)

Answer any 5 out of the given 7 questions.

(1)

(i1)

(iii)

(iv)

(v)

EE
=

Decisiveness is one of the entrepreneurial competencies. State
True/False. 1

The act of setting up and running a business and taking risks in

order to earn profits is known as . 1
In Open Office Calc __ contains the Name Box which shows
the location of the selected cell. 1
(a) Formula Bar (b) Status Bar
(¢) Menu Bar (d) Title Bar

5x1=5

command displays all the tables created in the current

database. 1
(a) SHOW DATABASES (b) SHOW TABLES
(C) CREATE TABLES (d) DISPLAY TABLES

symbol replaces a single character while matching a pattern

with LIKE keyword. 1
Predict the output : 1
String myStr = "Welcome Users";

System.out.println("New String:'"+myStr.toUpperCase()) ;

An attribute value may not be permitted to be NULL value with

constraint. 1

statement in Java, allows to use a prebuilt class and its
associated methods from a package. 1

(a) 1nclude
(b) public
(¢) extend

(d) import
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(vi) 5 Teh 3-hHY TAIhyd 2 59 W UEs 3 8 9HH @ie Eehdl
| 1

(vii) T 3 Trfeifad @l (%) & & g 98 IR fown w8 | qfk =i 3
H AN query I S fafay | 1

SELECT * FROM PRODUCT
SORT BY PRICE;

fou mu 79w § @ 52l 6 9vA1 & S N | 6x1=6
(1) Try block & s blocks ATd & | exception handler-
specific code BraT 2 frEest fsa1ET exception & ¢ foham STTaT 2 | 1
(i) “3TTAd % & H Database Management System (SeEE JeEH
JUTTGTt) T SIS IUANT T2 &1 UTT |7 IU<h Y= &l & I1 7Tetd & ? 1
(iii) NeGP®H 31 § 1
(iv) FHATS HT AT TRt & &9 AR foewor &1 fe@m & foe fman
ST & | 1

(a) DESCRIBE
(b) SELECT
(c) SHOW

(d) DISPLAY

(v)  Referential Integrity shl SIT& I | 1
(vi)  Compiler =1 % ? 1
(vii) STam | {21 € Primitive datatypes % 7™ ¥l | 1
fow T 6 ywA1 # @ fohedl 5 w1 o I G | 5x1=5
) Toreh fafere @Rt &1 & & foaw T Torftga foawo oz = | 1
(a) Method
(b) Class

(¢) Comment
(d) Variable
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(vi) is an e-commerce application where the
customer can purchase goods over the Internet. 1

(vii) Ranjana has written the following query but it is giving an error.
Rectify the error and rewrite the query. 1

SELECT * FROM PRODUCT

SORT BY PRICE;

3. Answer any 6 out of the given 7 questions. 6x1=6
i) The blocks follow a try block. It contains the exception
handler-specific code that is executed when the exception occurs. 1

(ii)) “Database management system could not find any usage in hospital

domain.” Is the above statement true or false ? 1
(111) NeGP stands for ) 1
(iv) The command is used to view the structure and

description of a table : 1

(a) DESCRIBE
(b) SELECT
(c) SHOW

(d) DISPLAY

(v)  Define Referential Integrity. 1
(vi)  What is a Compiler ? 1
(vii) Name any two Primitive datatypes in Java. 1
4. Answer any 5 out of the given 6 questions. 5x1=5
(i) A is a group of statements written to perform a specific
task. 1
(a) Method
(b) Class

(¢c) Comment

(d) Variable
326 Page 7 of 19 P.T.0.
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(i1)

(iii)

(iv)

(v)

(vi)
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fed T et wis + output H FAIET |
String first name = "Priyank";
String last name = "Arora"

System.out.println(first name.length()+last name.le
ngth());

J9 NG TeAhs™ T & ffafaa ffm 0 %9 o g0 39 o9
ShUS IO, Hhele N AR (TASHAT) dIR id & ?

(a) TS (Requirement)

(b) T8 (Design)

(c) sthﬁ'ﬁ%YFf (Implementation)
(d) <% (Test)

frafafiga @ 9 99T constraint I8 FddT 8 6 Uk tuple CES
TUE) H Y% attribute 1 Iod (value) 3 attritube % domain ¥
BT ATRT, 2

(a) Domain Constraint

(b) Key Constraint

(¢) Null Value Constraint

(d) Entity Integrity Constraint

HHTUS h1 TANT Hlch 299 (database) hl ST ST Fohdl B |

o

If¢ variable a %1 eI 1 & a1 F=fif@d HIg 1 output T F 2

switch (a)

{

case 0 : jTextFieldl.setText("Blue");

case 1 : jTextFieldl.setText ("Red") ;

case 2 : jTextFieldl.setText("Orange") ;
break;

case 3 : jTextFieldl.setText ("Black")
default : jTextFieldl.setText ("transparent")

break;

}
Page 8 of 19
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(i1)  Predict the output of the given Java code : 1
String first name = "Priyank";
String last name = "Arora"

System.out.println(first name.length()+last name.le
ngth());

(iii) In which of the following phase of web based application project, we
create backend database, frontend and the connectivity between

them ? 1
(a) Requirement

(b) Design

(c) Implementation

(d) Test

(iv)  Which of the following constraints specifies that the value of every
attribute in each tuple must be from the domain of that attribute. ? 1

(a) Domain Constraint

(b) Key Constraint

(c)  Null Value Constraint

(d) Entity Integrity Constraint

(v)  Database can be removed by using command 1

(vi) What will be the output of the following code if value of variable a
is1? 1

switch (a)

{
case 0 : jTextFieldl.setText("Blue");

case 1 : jTextFieldl.setText("Red")

case 2 : jTextFieldl.setText ("Orange") ;
break;

case 3 : jTextFieldl.setText ("Black") ;
default : jTextFieldl.setText ("transparent");

break;

}
326 Page 9 of 19 P.T.0.
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fou e 6 el W B Rl 5 9wl % S ST | 5x1=5
(1) 39 nyTia Teflehe (application) Tt & el T %e W (Front

End) %! T HIfVT | 1
i)  TorHY o1 % members 1 1 (class) ¥ STE UTH &1 fohaT ST Eeha | 1
(i1ii) Create Table Ush HAE B | 1
(iv) gl @ 9« S1399 o 9 «aTsT | 1
(v) o9 % fefhe 9% &1 & fo¥ aRa TR & 9IA (portal) &1 A1

§drsy | 1
(vi) ST B f&T (string) & E@ﬁ feem % ®R W e (concatenate)

foTT spek g 1 9 SaTsT | 1
fow T 6y T @ TRl 5 I%E1 & S ART | 5x1=5
(i) RDBMS Uhall &1 YA AUEH &4 o % ®1 I

(Frontend/Backend) Teram SiaT & | 1
(ii) YRd WHR g I T {hHl TH e-governance (3-TTo-H) Usdd

(initiative) T 3@ HIWT | 1
(iii)) Bytecode 1 2 ? 1
(iv) o TcAlhI™ dI” & | Requirement, , Implementation

3R Testing?f{:l% %49 (Phase) # | 1
(v) Tr=fafed § 9@ =59 SEn 1/% HaE (keyword) T2 2/2 2 1

break, While, for, switch, Display

(vi) SI@E % Hed I (group of values) o hHIqIA U  HEI

(mathematical functions) % T SIh functions (HT)

%7 I § | 1
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Answer any 5 out of the given 6 que:tions. 5x1=5
(i)  Define Front End, with respect to web based application project. 1
(ii) members of a class cannot be accessed outside the class. 1
(iii) Create Tableisa command. 1
(iv) Name any 2 web browsers. 1
(v)  Name the Indian Government portal for booking train tickets. 1

(vi) Name the method that is used to concatenate a string at the end of

another string in Java. 1
Answer any 5 out of the given 6 questions. 5x1=5
i) RDBMS packages are widely used as _ (Frontend/Backend) 1

(ii1) Mention any one eGovernance initiative taken by the Central

Government of India. 1
(iii) What is a Bytecode ? 1
(iv) Requirement, , Implementation and Testing are the

phases in Web Application Development. 1
(v)  Which of the following is/are not a keyword in JAVA ? 1

break, While, for, switch, Display

(vi)  The functions that are used to apply certain mathematical functions

on a group of values in a database are called . 1

Page 11 of 19 P.T.0.



EE
=

Qs @

(RS T97) (30 37%R)
ISR I9T T 13T T 5 J991 4 & fabeg1 8 To1 & IR 19T | Jo34h 97 T FH
20 - 30 7551 7 T / 3%9=6
7. USRI IV (positive attitude) % Had W HAT § ==l HIT | 2
8. |(<\=hr6'\|' ?ﬁ Jh o ILTHAT (entreprereurs) & 91 E|?|Tq | 2

9. %o (Calc) o Tabular data H filter ST 4 & &I HeHl (steps) ol

fafeu | 2
10. 3TMWAT (entrepreneurship) % TR 3T drelt fhal g AW qENAT H1 3g@
HIT | 2
11. <hhed foep (personality disorders) l <) & & Torgl q 3UET Hh 3@'@
HIT | 2
1T 17 5 3991 7 @ f5-5T 8 Il & IR 20 - 30 Isg) § AT | 3x2=6
12. & faum (table Department) T “Orehfa” ¥ “Hc@” d% Hhies fSurdie &
T ohl FRNTYA T hl 9= (query) ! fIRam | 2
13. Wﬁtryﬁcatch%mﬁwmé? 2
14. San § fem oema i s g fafern 6 s 3eretr afgd =men Hifve | 2

15. 3Mgl Y899 Jumiedi (Database Management Systems) % Tohral & Jq@
HE<el bl 3@ iU | 2
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Section B
(Subjective Type Questions) (30 Marks)

Answer any 3 questions out of the given 5 questions on Employability Skills.

Answer each question in 20 — 30 words. 3x2=6
7. Briefly discus the importance of positive attitude. 2
8. Name any two types of Entrepreneurs. 2
9. Write down the main steps to apply filter to a tabular data in Calec. 2
10. Mention any two common barriers to entrepreneurship. 2
11. Mention any two steps to overcome personality disorders. 2
Answer any 3 out of the given 5 questions in 20 — 30 words each. 3x2=6

12. Write a query to modify the value of field ‘dept’ from ‘marketing’ to ‘sales’

in the table Department. 2
13. What is the purpose of using try and catch statements in JAVA ? 2
14. Explain any two methods of String class in Java with suitable example. 2
15. Mention any two major significances of Database Management System. 2
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16. Tk Toml ol Wi | 1+1=2
(%) forEt relation W attributes sl T HEATI B | 1

(@) Tt SELECT Fo{ o 9O § GER (repetition) ¥ s=H % ol
clause WW%&TW%I 1
130 77 3 F99) 7 & fb-67 2 FoI & I 30 — 50 Fsq) 7 i | 2x3=6

17. fotam & § database applications % 3T % fohegl @9 g&a g3l <t ==
$||\3Q | 3

18. Switch statement T ITINT Hd gQ fafafga sum s =i Qo
ﬁ?ﬁEQ: 3

if (color == 10)
{ system.out.println("Red"); }
else if (color == 20)

{

System.out.println ("Orange") ;

}

else if (color == 30)

{

System.out.println ("Green");

}

else

{
System.out.println ("Invalid");

}
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16. Fill in the blanks. 1+1=2
(a) The number of attributes in a relation is called the of a
relation. 1

(b) To avoid repetition in the result of a SELECT Query
clause is used. 1

Answer any 2 out of the given 3 questions in 30 — 50 words each. 2x3=6

17. Discuss any three main purposes of using Database applications in

education domain. 3
18. Rewrite the following program code using switch statement : 3
if (color == 10)

{ system.out.println("Red"); }
else if (color == 20)

{

System.out.println ("Orange")

}

else if (color == 30)

{

System.out.println ("Green");

}

else

{
System.out.println ("Invalid");

}
326 Page 15 of 19 P.T.0.
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19. () EL.¥1.T. (Database Administrator) ! Y{HehT I 3T HIMT | 1

i) =1 3 Frafeafaa Fo9b € 8 W 98 35 awe fsdred s § semd B |
¢ ! S Hd gL Hal T (query) fafay | 2

SELECT NAME, MARKS

FROM STUDENT TABLE

WHERE NAME = "P%"

o0 77 5 3991 7 & el 8 F91 @& I 50 — 80 Ieg] § Ffarw | Sx4=12

20. HAVING clause B 1 1 YASH & ? I8 SQLﬁ WHERE clause 9 fopT TR
i 8 2 3199 I & gue 1§ 3gE i | 4

21.  Online tutorials (32 T78101) & %G % a1 # fdfgu | 4

22. ST %I R Object Oriented Programming language (T&IIh YTST HTIsHH)
AHT ST 28 2 S8l <hl TgRdal ¥ 221 B d (data members) 3T HFR
Ui (member methods) sh TI @ﬁlﬁ | 4

23. () ST U Platform independent language (<™ Ifgd WD) 2 |’ 39

HYT hHl oaar fag hHifsT | 2

(ii) wmar # & felsHer AT@E (relational operators) 3R @ (logical
operators)ﬁ ERIEN 2
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19. (i) State the role of a DBA (Database Administrator). 1

(i1) Sana has given the following query but she is unable to execute it

successfully. Write the correct query after rectifying the error 2
SELECT NAME, MARKS

FROM STUDENT TABLE

WHERE NAME = "P%"

Answer any 3 out of the given 5 questions in 50 — 80 words each. 3x4=12

20. What is the purpose of HAVING clause ? How is it different from WHERE

clause in SQL ? Give example to support you answer. 4

21. Write advantages of online tutorials. 4

22. Why is Java considered as an Object Oriented Programming language ?

Explain data members and member methods with the help of an example. 4
23. (i) ‘Java is a platform independent language.’ Justify the statement. 2
(ii) Give two relational operators and two logical operators in Java. 2
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24. AR shlS bl output ddigV :

(1) class production
{
int inp = 50;
void change(int inp)
{
System.out.println("Change"+po.inp) ;
inp=inp+100;
}
public static void main (String args|[])
{
production po=new production() ;
System.out.println ("before change'"+po.inp) ;
po.change (500) ;
System.out.println("after change"+po.inp) ;
}
}

D

% T F T alleh & ?

i)

Gi)  <irar ° RufiRt foe
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24. Write the output of following code: 2
(1) class production
{
int inp = 50;
void change (int inp)
{
System.out.println ("Change'"+po.inp) ;
inp=inp+100;
}

public static void main (String args|[])

{

production po=new production() ;
System.out.println ("before change'"+po.inp) ;
po.change (500) ;

System.out.println ("after change'"+po.inp) ;
}

}

(i1) What are the two ways to write comments in Java ? 2

326 Page 19 of 19 P.T.0.



326

i
EXE



326



326

i
EXE



326



326

322

i
EXE



